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Goodwill = Super Profits X Number of Years purchased 
 
Rs. 60,000 = Super profit X 4 
 

Super Profit = 
60000

4
  = Rs. 15,000 

 

Normal Profit = Capital Employed X 
𝐍𝐨𝐫𝐦𝐚𝐥 𝐫𝐚𝐭𝐞 𝐨𝐟 𝐑𝐞𝐭𝐮𝐫𝐧

𝟏𝟎𝟎
  

 
  
Capital Employed = Total Assets (including stock) – Current Liabilities 
 
Capital Employed = 1,20,000 – 10,000 = Rs. 1,10,000 
 
Normal rate of Return (Given) = 8% 
 
So, Normal profit = 1,10,000 X 8% = Rs. 8,800 
 
 
Super Profit = Average Profit – Normal Profit 
 
15,000 = Average Profit – 8,800 
 
Average Profit = 15,000 + 8,800 = 23,800  
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